

$$w) = \frac{n+r}{r^2 + r^2 - n+r} \div (n-1)$$

$$\frac{r^2 + r^2 - n+r}{r^2 + r^2} \cdot \frac{(n-1)}{r^2 + r^2 - n+r}$$

$$(n-1)(r^2 + n+r)$$

$$n^2 + n+r$$

$$(n+\frac{r}{r})(r-1)$$

m ≠

$$R = \{ \frac{1}{r}, -\frac{r}{r}, 1 \}$$

$$y) = \frac{n+r}{r^2 + n+r + n+r} \div (n+1)$$

$$\frac{r^2 + n+r + n+r}{r^2 + n+r} \cdot \frac{(n+1)}{r^2 + n+r}$$

$$\frac{n+r}{(n+1)(r^2 + n+r)}$$

$$(r+1)(n+\frac{r}{r})$$

$$R = \{ -r, -\frac{1}{r}, -1 \}$$

$$z) y = \frac{n+r}{n^2 - r^2 + r^2 - 1(n-1)}$$

$$\frac{n^2 - r^2 + r^2 - 1}{n^2 - r^2 + r^2 - 1} \cdot \frac{(n-1)}{n^2 - r^2 + r^2 - 1}$$

$$(n-1)(n^2 - r^2 + r^2 - 1)$$

$$\Delta < 0$$

$$y = \sqrt{\frac{n+r}{n^2 - r^2 + r^2 - 1(n-1)}}$$

> 0

$$+ \frac{r}{r} - \frac{r}{r} +$$

$$(-\infty, -r] \cup (1, +\infty)$$

$$\frac{r}{n^2 - r^2 + r^2 - 1(n-1)} \neq 0$$

$$n=1 \rightarrow -14 \rightarrow \text{مستحيل}$$

$$n < 1 \quad ; \quad n > 1$$

$$n^2 - r^2 + r^2 - 1(n-1) = 0$$

$$R = \{ 0, -r, 0, r \}$$

$$y) = \frac{n+r}{|r^2 + 1| - |n+r|} \neq 0$$

$$r^2 + 1 \neq n+r$$

$$R = \{ r, -\frac{r}{r} \}$$

$$y) = \sqrt{|r^2 + 1| - |n+r|}$$

$$(r^2 + 1)^2, (n+r)^2 \rightarrow r^2 + n+r, n^2 + n+r$$

$$\rightarrow n^2 - r^2 - r^2 > 0$$

$$(n - \frac{r}{r})(n+r) > 0$$

$$+ \frac{r}{r} - \frac{r}{r} +$$

$$r^2 + 1 \neq -n - r$$

$$r^2 \neq -r$$

$$n \neq -\frac{r}{r}$$

$$(-\infty, -\frac{r}{r}] \cup [r, +\infty)$$

$1 - \log_p^n$ $m > 0$ I (a)
 ا) $y = \log_p(1 - \log_p^n)$ $1 - \log_p^n > 0$
 $\text{II } m > m \quad 1 > \log_p^n$ $0 < m < 1$
 $D = (0, 1)$

ب) $y = \log_p\left(1 - \log_p \frac{1}{r}\right)$ $1 - \log_p \frac{1}{r} > 0 \rightarrow 1 > \log_p \frac{1}{r} \rightarrow \frac{1}{r} < m$
 $\checkmark D = \emptyset \cap \emptyset = \left(\frac{1}{r} + \infty\right)$

$f(m) = \sqrt{\log \log \log (m-1)}$ $m-1 > 0 \rightarrow m > 1$ I (4)
 $\log \log \log (m-1) > 0 \rightarrow m > 1$ II
 $\log \log \log (m-1) > 0 \rightarrow m \leq 1$ III

$D = I \cap II \cap III = (1, \infty)$

ا) $y = \log(r \cos n + 1)$ $r \cos n + 1 > 0 \rightarrow r \cos n > -1 \rightarrow \cos n > -\frac{1}{r}$ (v)
 $D = \left(r \cos n - \frac{r\pi}{r}, r \cos n + \frac{r\pi}{r}\right)$

ب) $y = \sqrt{\log \frac{n-1}{n+1}}$ $\frac{n-1}{n+1} > 0 \rightarrow +0 < 1$ I
 $\log \frac{n-1}{n+1} > 0 \rightarrow \frac{n-1}{n+1} > 1 \rightarrow \frac{n-1}{n+1} - 1 > 0$ II
 $\rightarrow \frac{-n-1+n-1}{n+1} > 0 \rightarrow \frac{-2}{n+1} > 0$ III
 $(-\infty, -1)$

$f(m) \sqrt{(a+r)m^2 + am + b}$ $\rightarrow D = (-\infty, \infty)$ (1)
 $a = -r \rightarrow \sqrt{-rm + b}$ $-rm + b > 0 \rightarrow -rm > -b \rightarrow m \leq \frac{b}{r}$
 $D = (-\infty, \frac{b}{r}]$ $b_r = r \rightarrow b = ar$

$\Delta \leq 0 \rightarrow b^2 - 4ac \leq 0$ $t - r(r - m^2) \leq 0 \rightarrow -r + r m^2 \leq 0 \rightarrow m^2 \leq 1$ (9)
 $\rightarrow -1 \leq m \leq 1$

$\rightarrow 1 - (-1) = 2$
 ا) $\rightarrow 1 - (-1) = 2$
 ب) $\rightarrow 1 - (-1) = 2$

$$\sqrt{\epsilon - \alpha^2}$$

$$n \xrightarrow{\text{size}} [m] + [m]$$

(16)

$$[m] + [m] + 1$$

$$10^{-2}$$

↓

-1

0.15

$$\alpha \in \mathbb{R}$$

$$\epsilon - \alpha^2 \gamma / 6$$

$$\epsilon \gamma / \alpha \rightarrow -\gamma / \alpha m \leq 4$$

ms